20233 =0l LB Sets22
SME2E=
ANE=23st &Y

E 0 & AHE E A A

230 43 =8 (St &)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
EstHE2E= 402,500, 139 389,785,219 12,714,920
= 6,716,336
= 2,544,622
Jl 27,663,114
Al 365,576,067
=1 81,061,850 77,395,812 3,666,038
= 1,190,136
= 2,544,622
7l 13,557,450
Al 63,769,642
A=s HE 34,795,510 31,275,633 3,479,877
= 1,163,436
Jl 13,557,450
Al 20,034,624
stz gdat =& 1,377,500 2,760,000 1,382,500
SSEHIE= WY B 200,000 200,000 0
308 AHXIEMSOIH 200,000 200,000 0
1 SIS0t EAS A 200,000 200,000 0
OS¢ = HeE= 200,000,000 200,000
Oz 243t A& 470,000 0 470,000
201 fer= 3| 200,000 200,000
01 At 2|l 200,000 200,000
OAlIZtUlE OIEIAE 2= ¢85 X278 &
Xl 200,000,000 200,000
307 glztol & 270,000 270,000
04 QIZHHAMAIRH 2 X 270,000 270,000
Ol OIEHN SdXAI& At
270,000,000& 270,000
SATAl HEHA o 707,500 1,580,000 872,500
201 er23| 207,500 205,000 2,500
01 AtR2t2|HI 207,500 205,000 2,500
OSHOIME =X 200,000,000& 200,000
Od2RARE tA=E S 7,500,000 7,500
307 glztol & 500,000 375,000 125,000
05 2ItRIE =2 500,000 375,000 125,000
OoldsSaERL 28 500,000,000& 500,000
S = ALK 6,926,700 5,623,100 1,303,600
) 30,000
Al 6,896,700
BiCt2l 23toli=Hel 43t Xd 275,000 275,000
308 AtAIEHMSOIE 275,000 275,000
01 HASHHBSEXS 275,000 275,000




A= 2stMs2E= M 2sHisD
FH: Nszs 3
Rl 230=AIKIA (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
Othctel =3tollz2 Hel 4st (ST
275,000,000 275,000
SEMOF 23 =M 100,000 115,000 15,000
307 212+01™ 100,000 115,000 15,000
04 CIZFHAIAIS E & 100,000 115,000 /15,000
O HNIOF 235 100,000,000 100,000
HHOl HiCH 22Dl thal 100,000 100,000 0
307 212t01& 100,000 100,000
04 QIZFHAIAIHE B = 100,000 100,000
OMHo| HiCt Oeldl thel
100,000,000& 100,000
FHIZISU=H 200,000 200,000 0
308 AtXIEMSOIH 200,000 200,000
01 MRHHBAEES 200,000 200,000
2EL Z=FM X2 200,000,000& 200,000
oI ool 230z FAIY 50,000 50,000 0
307 212+01™ 50,000 50,000
02 QIZtEHAIEE X 50,000 50,000
OQIHE o2 Z3tMl=nFAY
50,000,000& 50,000
SOLAIOI23tE Al =& 100,000 100,000
307 212t01™ 100,000 100,000
04 QIZHHAIAIH B & 100,000 100,000
OSO0AIOI23tEAl 23t IAIY F&
100,000,000& 100,000
=3 =M K& 100,000 100,000
308 AXIHMSOIA 100,000 100,000
01 X SHHNBAEXS 100,000 100,000
O+=S=3=HM X& 100,000,000 100,000
A EAFH X 200,000 100,000 100,000
308 KFXIEHMSO0IS 200,000 100,000 100,000
01 AXHHBAELS 200,000 100,000 100,000
OxcHER=HM X2 200,000,000& 200,000
St=XEM X2 200,000 0 200,000
308 AtXIEMSOIH 200,000 200,000
01 HXEHH B EES 200,000 200,000
Ot=d=HM X3 200,000,000& 200,000
FIUI=AL O 22X WA 20,000 20,000
201 L= 20,000 20,000
01 AFS2t2ltl 20,000 20,000
O23t0i=<UAL 2t ISR M&
20,000,000 20,000
agd =H 100,000 100,000 0




A= Sd=s2E= 2AM : stz
M XAE25 &Y
el SSH=SAKIE (SH9 H2)
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 = 45 . 0l & s
307 21Z2t0| ™ 100,000 100,000
04 CIZISHAIAIH B2 X 100,000 100,000
ostsed =Hl 100,000,000 100,000
oI AS=EHI 200,000 200,000 0
307 S1ZH0| & 200,000 200,000
02 QI AMAIGEE X 200,000 200,000
OCIdASEH KA 200,000,000 200,000
o= =3=FA 130,000 90,000 40,000
307 2IZ2H0| & 130,000 90,000 40,000
02 QIZFEAMAIE X 130,000 90,000 40,000
Odl=23=H X& 130,000, 000& 130,000
OIFE MEIEZZ2A =H XA 50,000 50,000
307 21Z2t0| ™ 50,000 50,000
04 QIZFHAFAII X 50,000 50,000
ODIEEMEIZZA &H X2
50,000,000& 50,000
A|AOIAERI23EA 300,000 30,000 270,000
308 AXIHHSOIA 300,000 30,000 270,000
01 RXISHBAEES 300,000 30,000 270,000
O32ANAER| 23R X
300,000, 000& 300,000
OIF 2 2Y HA LA 30,000 30,000 0
307 21Z2to| ™ 30,000 30,000
02 QIZFBAMAIE X 30,000 30,000
OQE2REINTY N
30,000,000 30,000
HiCtel & 23S =H 100,000 100,000 0
307 S1ZH0| & 100,000 100,000
02 OIZHEAAIH B X 100,000 100,000
Odtctel 8 23t=H K&
100,000,000& 100,000
CIMHIEIZE Sot=]1 1,430,000 1,130,600 299,400
J| 30,000
Al 1,400,000
308 XAXIHHSOIA 1,430,000 1,130,000 300,000
J| 30,000
Al 1,400,000
11 S| 2SO USZEAEREAIZ LI 1,430,000 1,130,000 300,000
OPQIMHIEIZE S2A=H|
1,430,000,000& 1,430,000
J| 30,000
Al 1,400,000
0= 23=A 100,000 100,000 0
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SN2

ton

HOll = 1t

T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
202 04l 2,500 2,500
o1 =LHolb 2,500 2,500
o4& EM&EIL FAE S
2,500,000& 2,500
203 =4l 4,200 4,200
03 AIRFTEE= 4,200 4,200
OX=M 2 23 245t
4,200,000 4,200
SS0=CH At X 2,259,000 1,764,800 494,200
201 2Bt | 3,000 2,800 200
03 #AL2 | 3,000 2,800 200
OAZ 2HUZHA B
3,000,000& 3,000
207 ARl 70,000 40,000 30,000
01 = 70,000 40,000 30,000
O2="At &
70,000,000 70,000
307 212+01& 2,186,000 1,722,000 464,000
02 LB HAHE L 2,000,000 1,550,000 450,000
O=3t0l==HA
2,000,000,000& 2,000,000
03 2N EE =S 186,000 172,000 14,000
Odvgsl 24| 186,000,000 186,000
ZAF NS 24,718,065 19,337,563 5,380,502
= 948,586
Jl 13,527,450
Al 10,242,029
Sg=012d NE At 19,174,630 13,487,700 5,686,930
Jl 13,527,450
Al 5,647,180
307 gl2to| & 19,174,630 13,487,700 5,686,930
Jl 13,527,450
Al 5,647,180
02 QB EASE 19,174,630 13,487,700 5,686,930
osg=solEd
19,044,630,000& 19,044,630
Il 13,527,450
Al 5,517,180
osg=a0l8d
130,000,000 130,000
N 2e =S E Al 1,738,000 1,738,000 0
307 @120l & 1,738,000 1,738,000
02 QB AASE 1,738,000 1,738,000




A= 2stMs2E= M Zstilst
g NS2et &g
&el: 2s=EX7E (SH &)
Al = % o|(5 = dEE =
AT 2A - - B9I(S) - ARAY - BES of &4 e HRE2
OXIY2sils SASAIY X3 (HE-2E)
1,738,000,000& 1,738,000
DT M=CH SEXS AF(HEAY) 628,000 628,000
307 212+01™ 628,000 628,000
02 QIRHEAAIHE L 628,000 628,000
O3AFAFHI LA (01 2-15H)
628,000,000& 628,000
OLSCHZ OIOFIZOILI ALY 547,495 851,923 304,428
= 383,246
Al 164,249
307 212t01™ 547,495 851,923 304,428
= 383,246
Al 164,249
02 QB EANGEEE 547,495 851,923 A304,428
OOtSCH2 01O IZ2HLIALY XI#
547,495 ,000& 547,495
= 383,246
Al 164,249
=20k H=2ZAL XA 428,680 428,680 0
= 214,340
Al 214,340
307 212t01™ 428,680 428,680 0
= 214,340
Al 214,340
02 QIS 2R 428,680 428,680 0
O=224=Z0F Hi=ZAL XIR
428,680,000 428,680
= 214,340
Al 214,340
FOIZSMznSs XIS (HEALL) 230,000 200,000 30,000
307 212t01& 230,000 200,000 30,000
02 QIIHAANSEE R 230,000 200,000 30,000
OROI2SH=W SR (012 2-1EHH)
230,000,000& 230,000
KNS 2=nS DR S(HEALL) 1,256,300 1,286,300 230,000
307 212t01™ 1,256,300 1,286,300 230,000
02 QI HAANEE X 1,256,300 1,286,300 /30,000
OXE 230z II B R=(012F 2-1EHH)
1,256,300,000& 1,256,300
FoM=wSAE QIEY XA 170,000 172,000 A2,000
= 85,000
Al 85,000
307 212t01& 170,000 172,000 22,000
= 85,000
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=N =2E= 2Md 0 2oz
neest g
HEZ3 B (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
ME2S 2435} 709,520 2,554,520 1,845,000
OIMME 2SI =HI 80,000 100,000 20,000
307 QI2t01 ™ 80,000 100,000 20,000
02 CIZHEAAMHE R 80,000 100,000 20,000
OME=3=H 80,000,000& 80,000
FESAEE ANUZSlzs S2U2E & 100,000 200,000 100,000
307 CIZ2tOIA 100,000 150,000 250,000
02 QIZHEBAMAIEE X 100,000 150,000 50,000
ORsAd 2382t 29
100,000,000& 100,000
MEESIS0t2l A& 500,000 500,000
308 KX SHMSOIN 500,000 500,000
11 2| 2SHIUsHE & X 2 E ALY 500,000 500,000
OMEEssotel 4 & X
500,000,000& 500,000
CIMMEIZS 220 EE 25 22,000 22,000
308 AXISHHMSOIH 22,000 22,000
11 SI|2SHCHeZ A EAIS I 22,000 22,000
OMEZ3 2e0IEHS SR 22|
22,000,000& 22,000
MEZS 2435 7,520 0 7,520
201 Let2HH| 6,250 0 6,250
01 A2l 6,250 0 6,250
OMBEEOIE 22 U 29
3,000,000& 3,000
OMERT B2AIY MAIE
3,250,000& 3,250
202 04t 1,270 1,270
01 =2LHM Y| 1,270 1,270
2= =H EDF FHAL XI” S
1,270,000& 1,270
SZ23F 2435 =& 322,275 399,000 NNT76,725
= 214,850
Al 107,425
HSAHE 24 FH| 270,000 150,000 120,000
= 180,000
Al 90,000
403 RtXIHASK=0H 270,000 150,000 120,000
= 180,000
Al 90,000
01 AXISHHA2E X 270,000 150,000 120,000
ONEAE EFH| 270,000,000 270,000
= 180,000
Al 90,000




A= 2stMs2E= M Zstilst
g NS2et &g
&el: dSEs 245 =8 (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ol &0 ==
HEAME STHAIAE SAE 52,275 36,000 16,275
= 34,850
Al 17,425
308 XXIHMSOIA 52,275 36,000 16,275
= 34,850
Al 17,425
01 XN LEXS 52,275 36,000 16,275
ONSAE 2ETHAIAE SR
52,275,000 52,275
= 34,850
Al 17,425
FStEAl I8 =4 21,020,813 29,724,787 A\8,703,974
s 1,500,000
Al 19,520,813
Zotes 243t 18,020,813 26,744,787 N\8,723,974
Y Ha2Y 11,431,000 20,438,000 9,007,000
306 == 8,869,000 18,138,000 A\9,269,000
01 &= 8,869,000 18,138,000 29,269,000
OQIE I3 2SAIHHl BX
8,669,000,000& 8,669,000
OH0OtS 0t= SStaS(Z0{0lAr, 238
Al 200,000,000& 200,000
308 KXIHMSO0IH 2,562,000 2,300,000 262,000
11 SN2 SO A H &AL 2,562,000 2,300,000 262,000
OzstilsSE3stHel &4
300,000,000 300,000
O =23} 243t At
2,262,000,000& 2,262,000
EStAIE "olst 80,000 0 80,000
207 HA=1IHE 80,000 80,000
01 A1 80,000 80,000
O=tAId golst etEd A& |
80,000,000 80,000
23AE AS 3,391,188 3,818,100 N426,912
307 212t01& 300,528 269,700 30,828
05 BIZt2(Er = 300,528 269,700 30,828
OZsAINH A2t 300,527,900& 300,528
308 XXM SOOI 3,090,660 3,548,400 A457,740
11 SI 2SOt E A A AS ALZ | 3,090,660 3,548,400 A457,740
OQIHOIESAHE RAEAIHI
3,090,660,0002 3,090,660
=2 S AS 1,811,647 1,258,962 552,685
307 212t01 & 1,348,263 1,258,962 89,301
05 2I”IAE S 1,348,263 1,258,962 89,301
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SN2

ton

Holl= 1

R B Ol () - HRAY - BaS ol & A
O=II2SU= XA AE ALS
16,000, 0002 15,000
OLE 2tz =8 28
36,000,000& 36,000
03 SAt2GH] 48,000 48,000
O3t U= o A =2
48,000,000& 48,000
203 =& 9,400 9,400
03 Al Z=&IHS=XY| 9,400 9,400
O=HH=dE R 9,400,000& 9,400
301 LEtBEF 14,118 10,895
10 AR =RRIABHS 14,118 10,89%
O== 10,400,000& 10,400
OsA| 2,860,000 2,860
OuSH| 858,000& 858
ZIIBAIE &E 3,000,000 2,980,000
s 1,500,000
Al 1,500,000
23t Al ZEAY 2,250,000 2,250,000
s 1,500,000
Al 750,000
308 AXIHMSO0I & 2,250,000 2,250,000
s 1,500,000
Al 750,000
01 AXSHHBMEERS 2,250,000 2,250,000
OR&EF 2SEAl 4N
2,250,000,000& 2,250,000
s 1,500,000
Al 750,000
AMEIZE0s 32 29 660,000 660,000
307 QI2Hol ™ 60,000 60,000
02 QIRHEAAIHE X 60,000 60,000
OAlRI25til= 22t 28 A
60,000,000& 60,000
308 AXIHMSO0I& 600,000 600,000
01 AXIEHBLAEES 600,000 600,000
OAl2I25til= S2t 22 X
600,000,000& 600,000
2 RIEHE 2435t 90,000 70,000
308 REXIHMSOIH 90,000 70,000
01 AXIEHELAEXS 90,000 70,000
Ocehole |2 22t & 90,000,000 90,000
NE23&s 25,230,3% 16,335,863
= 26,700




A= EMsAE= 2L 2s0l=n
3 NISA2SES
Sl M 0| BEt ZAl (Gt H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
fas 1,044,622
Al 24,159,074
8| ESh TAl 9,144,3% 8,029,863 1,114,533
= 26,700
fas 1,044,622
Al 8,073,074
ANEEAZ 22|29 7,285,372 6,205,271 1,080,101
307 2Iztol & 4,580,374 4,403,784 176,590
05 2IZt?& =2 4,580,374 4,403,784 176,590
OANEEZAZ 2E2H(CA2ALNTSH)
,079,274,000 4,079,274
OS=TAZ SZIESA
122,100,000& 122,100
O3 A2 SZJHSA
285,000,0002 285,000
OSBT A BZINESA
94,000,000 94,000
308 ARISMSOIE 2,704,998 1,801,487 903,511
08 WSII2H0SE = 2,704,998 1,801,487 903,511
O A2 SN (NFE)
1,504,998,000& 1,504,998
OAEEAMZ 23H(R=H)
1,200,000,0002 1,200,000
SSTAZ AR AE(HE) 270,864 0 270,864
z 135,432
Al 135,432
307 2IZtolI& 270,864 0 270,864
z 135,432
Al 135,432
05 QIteIE 3 270,864 0 270,864
O3S A2 AR A (XEH)
270,864,0002 270,864
fas 135,432
Al 135,432
S3TA2 j2AIRZE HAF(XIZ) 909,190 0 909,190
[as 909,190
308 XXM SOl 909,190 0 909,190
[as 909,190
01 HXHMBdEx= 909,190 0 909,190
O3B M2 A AEH(Z27)
909, 190,000 909,190
Fas 909,190
NN 2245 A (RE) 58,350 58,350
201 Let2aY| 4,500 4,500
01 Al2telsl 4,500 4,500




A2 esmSUER SN 2s0lEt
CHENHEESTESE
Sl M 0| BEt ZAl (Gt H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
ONSTAZ 2THL 5 22
4,500,000 4,500
202 (4t 1,350 1,350
01 =LHO4 b 1,350 1,350
ONSTMZ MHZA L NEES
1,350,000& 1,350
301 LEENSZ 52,500 52,500
14 JIEt2 43 52,500 52,500
ONSTH NABSI A2
52,500,000& 52,500
2T A2 2HELS AIY(XIE) 386,920 386,920
308 AHXIHMSOIH 86,920 86,920
01 IXSHBAEERS 86,920 86,920
ONSEHT 214 U T2y X
86,920,000& 86,920
403 MHXIHMS 201 300,000 300,000
01 AXSHHE2ER 300,000 300,000
OF2EAZ 23 a435 K&
300,000,000& 300,000
HIA ®ol =5 J1GAY FA(HE) 51,000 51,000
201 2| 51,000 51,000
03 &At2ZH] 51,000 51,000
ORSTHT 2R 22
9,000,000& 9,000
O2Id OtESHN 30,000,000& 30,000
OQI& tiCtel ®IlZ &0t
12,000,000 12,000
CAZ CH2StMPIA XI(RE) 8,000 8,000
= 5,600
Al 2,400
307 QI2Hol M 8,000 8,000
= 5,600
Al 2,400
05 QIZtRIErZ 8,000 8,000
OEMZ THEStMEIA XIZ(XEH)
8,000,000& 8,000
= 5,600
Al 2,400
CAZ CH2StMPIA XTI (XI3) 21,100 21,100
= 21,100
308 AXISHMSOIN 21,100 21,100
= 21,100
01 X SHHBAEERS 21,100 21,100
O M2 CHRSIMEIA X2 (27)
21,100,000 21,100
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SN E2E= A 2et2d =]
Sttty 2t
FoI2EI= MY sS4 2 HA)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
OME SIC JIgH EEJEES
=g N2 600,000,000& 600,000
NSE35t 2= Y 400,000 400,000
306 £ 400,000 400,000
01 Ed= 400,000 400,000
OXgEst 2= D
400,000,000& 400,000
R IZE=NY |4 1,500,000 1,500,000 0
306 EH= 1,500,000 1,500,000
01 &%= 1,500,000 1,500,000
OXR SEI=4HY 1,500,000,000& 1,500,000
SR = XEE AIER 450,000 450,000 0
306 £= 450,000 450,000
01 2d= 450,000 450,000
O=2z2d = StEE Atst X
450,000,000 450,000
oIEY 2BHIx RV 800,000 800,000 0
306 E= 800,000 800,000
01 £g= 800,000 800,000
Ooldg ZH= s 54
800,000,000 800,000
Y 2E=x 20T 110,000 110,000
306 £= 110,000 110,000
01 &2d= 110,000 110,000
OHWE 2EIx 22007
110,000,000 110,000
HEEes2d= |54 1,001,200 651,200 350,000
202 04| 1,200 1,200 0
01 2LHA b 1,200 1,200 0
ONg=st2d = 2
1,200,000 1,200
308 XXM SO0IH 1,000,000 650,000 360,000
1 SIS0t 1,000,000 650,000 350,000
O0lAZ= S A
1,000,000,000& 1,000,000
A0LE 01T 2EI= & 1,044,000 750,000 294,000
306 £ 750,000 750,000 0
01 2d= 750,000 750,000 0
OADIE OI0I0f 28I= &Y =
750,000,000 750,000
308 XtXIEMSO0IE 294,000 294,000
11 3J12S0tet 294,000 294,000
OLIE=MI1I0ICIO T
294,000,000 294,000




A= FaHSTRSF 2N 23ZEH=D
M oY AT
&el: 20123t 243 (SH &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K Oa:lg_% HusZ
=023 &4t 79,000 11,000 68,000
HoPt= =0i2ststn 11,000 11,000 0
307 212t01 & 11,000 11,000 0
02 QI HAANEE X 11,000 11,000 0
OO0l =0I=8tstn 29
11,000,000 11,000
QIEAl X - =0 235t 243t 68,000 0 68,000
201 =3 2,000 2,000
01 AFS2t2ltl 2,000 2,000
ONIetA BOtRIE do==E S
2,000,000& 2,000
207 AN 66,000 66,000
01 AR S HY| 66,000 66,000
OQIFAl EXt- =01 012 AEH=A & X
2ot A=A 66,000,000& 66,000
2SI Al JleE =4 13,089,032 13,821,392 NT782,360
=2etAIE EF 4,621,800 9,508,280 A\4,886,480
H Botlllssl2 AE At 2,756,000 3,314,000 558,000
403 AXIEHHSAH=0lH 2,756,000 3,314,000 558,000
01 X SH A=A 2,756,000 3,314,000 558,000
Og==Zstoll=sl2 248 At
2,7%6,000,000& 2,756,000
QTS RS S (BTL)-REOIEMH (M &-XI1&) (A 1,557,000 1,557,000 0
EALY)
403 THAIEMS =01 1,557,000 1,557,000
01 RXISHH A= E X 1,557,000 1,557,000
OSFHOIEHE (BTLAIY ) S 2 X & (M &K
) 1,5857,000,000& 1,557,000
HEE 0223 &2 € 0l=3 2el 108,800 57,280 51,520
101 e124d| 23,000 17,080 5,920
M IRMZ2ISES 23,000 17,080 5,920
OJIRH22Rs B2(1Y)
23,000,000& 23,000
201 LBt 85,800 40,200 45,600
01 AF2-2t2ltl 85,800 40,200 45,600
Onl=#E 4o ¢ 52,800,000 52,800
Od=ta 3= 9,000,000& 9,000
OdoRAs 23| 9,000,000 9,000
OAl Ol=& =2l ¥ HD 15,000,000& 15,000
SR 2oz A BEd 29 200,000 200,000
207 A IOHEH] 200,000 200,000
01 A1E9H| 200,000 200,000
O=2d 2osa 1Y egd 89
200,000,000& 200,000




[0 HO MO

sHS22=
SICAl JlEr ZA

St olzmet RF EER=E)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
st olZet A= 8,417,232 4,313,112 4,104,120
QIMFXLIT HE 8,315,232 4,277,112 4,038,120
201 2| 88,632 148,632 A60,000
01 Ar22eltl 86,632 145,632 59,000
OUFARDIES HBEA 29
10,600,000 10,600
OgAN=ED 2H 76,032,000& 76,032
02 324l 2,000 3,000 21,000
Oll=8 28 )t 2,000,000& 2,000
202 Ot 3,600 2,460 1,140
01 =WO4bI 3,600 2,460 1,140
OCIEFXNLmT S HE AtellZAL
3,600,000& 3,600
207 HA2OHEH| 150,000 150,000
01 H72=29| 150,000 150,000
OQIEAIE D=2 2ZYot AREA
150,000,000& 150,000
308 AHXIHMSOIH 50,000 50,000
1 S 2ASUHHS B A ELEA 50,000 50,000
OFOIEA 2EH= 22
50,000,000& 50,000
401 A& B2 20iY| 8,018,000 3,776,020 4,241,980
01 AlEHI 6,201,805 3,776,020 2,425,785
OJle2 ¥ AAIEHHI 5,601,805,000& 5,601,805
OFAl EH Z ZA| 600,000,000 600,000
02 eyl 1,786,195 0 1,786,195
OA&EMg 22 1,786, 195,000& 1,786,195
03 Al CHYI 30,000 0 30,000
OAIZ 201l 30,000,000 30,000
405 XHeHE S| 5,000 200,000 A 195,000
02 T 5,000 0 5,000
OAlE0I=2 021018 =
5,000,000& 5,000
SHMAZAEI=2 K& 102,000 36,000 66,000
201 B2 AL| 102,000 36,000 66,000
01 ArR22ltl 2,000 16,000 214,000
OHMIStA EOIIAal Ao+
2,000,000& 2,000
03 @At2EH] 100,000 20,000 80,000
O=EHMAZELS2 JH2D1E N2AHA
100,000,000 100,000
HE2HZH| 31,99 30,062 1,933
Jl2dbl(2s2d=1) 31,99% 30,062 1,933
22| 31,99% 30,062 1,933




A= Sd=s2E= EA : 23I2d=x])
A HHS2AFH|
ool J=Zul(2s28 =1 (S & 2)
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 = 45 . 0l & s
201 LEr2AH| 18,480 15,960 2,520
01 AFR22t2lHl 18,480 15,960 2,520
EA2I+2H| 12,620,000 12,620
OISR S| 5,860,000 5,860
202 04| 9,915 10,502 NB87
01 2LHAHY| 9,915 10,502 AB87
OJ 12828 04| 9,915,000& 9,915
203 R =&IH| 3,600 3,600
M4 ENSILRFEY| 3,600 3,600
ORAS2IERF=X| 3,600,000 3,600




S 0l & AHEY I

Al A

a3 FIMsZE= A 1 SatEAH
M MSEs 2 € ds
Chel: 2atiH2el EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
ZotF At 23,538,676 17,419,257 6,119,419
= 4,918,700
) 1,584,340
Al 17,035,636
HERS EE & &5 22,422,049 16,284,440 6,137,609
= 4,918,700
pJ 1,584,340
Al 15,919,009
2sti=el 9,440,681 4,142,862 5,297,819
= 37,800
) 564,500
Al 8,838,381
o Fol2elel 2a 49,875 40,752 9,123
308 KtXIEMSO0IH 49,875 40,752 9,123
01 RSN B EES 49,875 40,752 9,123
OAIXNIEEZ3HM Zolztelel 24
49,875,000 49,875
AAISA 22 228 2SAY 56,700 72,000 15,300
= 37,800
Al 18,900
308 AtAIEHMSOIE 56,700 72,000 115,300
= 37,800
Al 18,900
01 XN EES 56,700 72,000 A 15,300
OMAISA 28 Z278 MY
56,700,000& 56,700
= 37,800
Al 18,900
QI=2SHAIE 2| 2,638,876 2,286,634 362,242
101 QI24H| 352,209 303,304 48,905
M IRIMZZ2S e 352,209 303,304 48,905
OQIEAMFAE) G2 Ha22/(3Y)
220,845,000 220,845
OREEaMN drns2 ASSE2(3H)
131,364,000 131,364
201 er23 | 341,849 38,629 26,780
01 At2teltl 104,027 100,366 3,661
O=FMHA HRS (LA CSE2A0t =XHE)
24,525,000 24,525
Ol SATIIS2 2el
34,372,000 34,372
ORE2s d+ns2 2
45,130,000& 45,130
2 s5=4g4l 237,822 248,263 210,441




el 232l (SH9 H2)
- 2N B GRAEH)  ARAY - BES ol &4 e HIDEY
OeldaEAEI g2 2el
120,382,000 120,382
OFREEal dr=usa 2|
101,600,000& 101,600
OfE2M drus2t 9 NE £ &
Hi2el 15,840,000 15,840
202 04| 600 600
01 =LHNHI 600 600
OL&SHAIL 2T S
600,000 600
307 212+01™ 1,567,445 1,138,442 429,003
05 git?(& = 1,567,445 1,138,442 429,003
OQIFAIBION(E)E S22
326,960,000 326,960
O MSEFRSHR 2L
445,240,000 445,240
OUEE oA AFBA 922
256,616,000& 256,616
O =S 220t 2?2t
362,773,000 362,773
O2sgEmL gl
175,856,000 175,856
308 XXIHMSOIA 359,864 339,303 20,561
11 S| 2SO0 U &HASAE 359,864 339,303 20,561
IMMSHEI G2 HA X A2
359,864,000 359,864
401 AIEHIZ SR OHYI 13,500 100,776 N87,276
01 Al 13,500 100,000 86,500
OAMNBHFISB AS L ST Y|
25 &) 89 13,500,000& 13,500
405 KHAHF SH 3,409 55,580 A52,171
01 ML ESHSHI 3,409 55,580 A2, 171
OREEsl dxus2t 25 78
3,409,000 3,409
SR s =23 322,900 81,400 241,500
201 =3 85,900 48,900 37,000
01 AFS2t2ltl 85,900 48,900 37,000
OurgR - 0ls3 NEIANS 4
3,200,000& 3,200
OXgE2I&s =& 1,500,000& 1,500
O=2st A=l =& 65,200,000 65,200
OBB=2 U DNCH HH £48
5,000,000& 5,000
OAl 23 22l M= A S
11,000,000 11,000
202 04| 1,000 1,000 0




HESS UE U ®a
Sst2el EER=E)
LA B - S9(E) - AISAY - BES of v e HIDE2
01 2LHoIH 1,000 1,000 0
OR&t SEZARUESE)
1,000,000& 1,000
207 ARl 200,000 0 200,000
01 Sl 200,000 0 200,000
O9GAMZaEE BEEXY J2IIE =8 8
B 200,000,000 200,000
301 2eEN= 36,000 31,500 4,500
14 JIEt2 8= 36,000 31,500 4,500
O23tM &l XA, 23 X E,
ST M e S 36,000,000& 36,000
T S8 At 1,129,000 1,012,746 116,254
) 564,500
Al 564,500
307 @20l & 1,072,000 1,012,746 59,254
Il 536,000
Al 536,000
02 QB HANSEER 1,072,000 1,012,746 59,254
O2z =8 At 1,072,000,000& 1,072,000
7l 536,000
Al 536,000
401 Al HIZL 01| 57,000 0 57,000
Jl 28,500
Al 28,500
01 Al&H| 57,000 0 57,000
O22t =23 At 0lcl dEA
57,000,000 57,000
Il 28,500
Al 28,500
g2 E=HAH Zat 124,330 124,330 0
202 04| 330 330
01 SLHoIH 330 330
OsteR == o 2EHE TA
330,000 330
307 el2to| & 124,000 124,000
02 2B YA R E £ 124,000 124,000
Ol A= 2E 23 K&
80,000,000 80,000
OSE AMggs2 gd3 NI
44,000,000 44,000
S g K 5,019,000 525,000 4,494,000
403 X SHHMSAH=01H 5,019,000 525,000 4,494,000
01 AXISHHA =2 & 5,019,000 525,000 4,494,000
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A= FIHs2HE= A 1 SatRet
M MESEs 2 Y M5
el Betret dsKE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| 10,000
Al 40,000
307 QI2HO| A 50,000 50,000 0
| 10,000
Al 40,000
02 QIRHHAAIHEE X 50,000 50,000 0
Ost=20I=0=H 50,000,000 50,000
| 10,000
Al 40,000
g M2 Z 22 A 35,000 112,000 AT7,000
= 20,000
Al 15,000
308 AEXISHAMSOIH 35,000 112,000 AT77,000
= 20,000
Al 15,000
01 AXIEH B AExS 35,000 112,000 AT77,000
OQldetl ME2s afMds ME
35,000,000& 35,000
= 20,000
Al 15,000
MM ALY 217,000 175,000 42,000
= 124,000
Al 93,000
308 AXIHMSO0IA 217,000 175,000 42,000
= 124,000
Al 93,000
01 AXIEHZAERS 217,000 175,000 42,000
QMM SITH At 217,000,000& 217,000
= 124,000
Al 93,000
23t OF =278 743,750 743,750 0
= 425,000
Al 318,750
308 AXIHMISOIA 743,750 743,750 0
= 425,000
Al 318,750
01 AUXIEHZAEES 743,750 743,750 0
O3 oFd =270 743,750,000& 743,750
= 425,000
Al 318,750
NG 2ot otnE ALY 28,500 73,500 245,000
= 19,000
Al 9,500




FIHs2HE= N o 23s4tt
HERS B U HB
EatRre dsXE CHe M)
A E8 . o2(3]) - MRAY - BaS A SimE==t
308 AHXIHM SO & 28,500 73,500 A45,000
= 19,000
Al 9,500
01 REXIEHX 28,500 73,500 A45,000
OXYZ3R
28,500,000 28,500
= 19,000
Al 9,500
&b DIS3H 4,000 4,000 0
= 4,000
308 AbXICHA 4,000 4,000 0
= 4,000
KEXI S| 4,000 4,000 0
Oulsls 3lstUR HA K&
2,000,000& 2,000
= 2,000
O&=+= 2Lt HA K&
2,000,000& 2,000
= 2,000
=2H| 100,000 100,000 0
KEX] SR 100,000 100,000
KEXIEHA| 100,000 100,000
OHE =
100,000, 000& 100,000
XEZ23Re HS 50,000 50,000
308 AbXICHA 50,000 50,000
01 REXI A 50,000 50,000
Oold Jx
50,000,000& 50,000
HdE2stolz UH=H 120,000 120,000
307 2I2+01A 120,000 120,000
02 Ql2tA3 At 120,000 120,000
ONsS=23t 120,000,000& 120,000
SEAA = - FE 464,600 522,940 58,340
QIFZAAIAL HE 249,600 200,100 49,500
101 el t| 27,000 30,000 A3,000
M I1RIMZ2Z2XsEs 27,000 30,000 A3,000
OQUFEAAHAIR A2 S)HESZAH(1Y)
27,000,000 27,000
etz 217,000 164,500 52,500
t2el 217,000 164,500 52,500
O2r%™ &AM CIXE Xzt
7,000,000& 7,000




siS2E SN SEHRUD
SR B= ¢ M5
SolA 22 - Y (Er9: &)
CRA - E . O (BH) - HIRAY - BAS 0l Aoy e HIDS2
OAIANEE RS 2EE
6,000,000& 6,000
OAIANEE 29X 4,000,000 4,000
OQIEZAAIAL HE 200,000,000& 200,000
202 04t 2,000 2,000
01 Z2LHOHI 2,000 2,000
OAIAHEZE TtE2E od] 2,000,000& 2,000
203 PR F=&IY| 3,600 3,600
03 AIBFAAHR=EIH| 3,600 3,600
OXNY =3 2tel 3,600,000& 3,600
AAMEE AHEA 29 4,000 12,000 A8,000
201 Let2AH| 4,000 12,000 A8,000
2 332g| 4,000 12,000 28,000
Os322 % MA 4,000,000& 4,000
St XS A 27,000 21,200 5,800
201 LEt2HH| 12,000 10,000 2,000
03 A2 S| 12,000 10,000 2,000
OClE AAL &=3|2| HE|
12,000,000 12,000
301 LEtBNEZ 15,000 11,200 3,800
11 HALAHIXIAZ 15,000 11,200 3,800
O0IA HAF =30 &E LU EZY|
15,000,000& 15,000
shab 293 100,000 200,000 100,000
201 Let2IH| 100,000 200,000 100,000
03 A2 | 100,000 200,000 100,000
O2stdt 23] 100,000,000 100,000
A 822 JIEAY 84,000 84,000
307 QIZ2t0I A 84,000 84,000
02 CIZHEAAMHE R 84,000 84,000
OFH == JIEAY XA
84,000,000& 84,000
Stea BE - FH| 9,369,073 8,199,193 1,169,880
= 4,274,900
J| 1,009,840
Al 4,084,333
2D EEZSH L SEZM B FH| XA 5,417,000 5,011,185 405,815
= 4,274,900
Al 1,142,100
403 RIXISHHIS K201 & 5,417,000 5,011,185 405,815
= 4,274,900
Al 1,142,100
01 AIXISHXM A =2E L 5,417,000 5,011,185 405,815




2= EMs2E= A - 2ateAt
HY: ME2s BE Y M
ol 2etea 2E - Fdl EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
O=IHId 2t & SE23M 2= 34
5,309,500,000& 5,309,500
= 4,190,200
Al 1,119,300
O&cllg=E Exilg & |2
107,500,000 107,500
= 84,700
Al 22,800
o MBS HiXl & & 191,760 180,000 11,760
Jl 127,840
Al 63,920
308 AXIHMSOIA 191,760 180,000 11,760
) 127,840
Al 63,920
01 HASHHBSEEXS 191,760 180,000 11,760
O=ItNE 2= &&FHI01E X
191,760,000 191,760
Jl 127,840
Al 63,920
AXE2M & SE=3H 2+ Zd| X 2,456,013 2,700,010 A243,997
308 XXM SOIH 520,640 491,546 29,094
01 XN BELES 520,640 491,546 29,094
OAIXNIEZ3H & BH1= B
520,640,000& 520,640
403 MR EHHSAHE01H 1,935,373 2,208,464 273,091
01 MXIHHA 22X 1,935,373 2,208,464 273,091
OAXNEEZsHM 2= FH|
1,856,074,000& 1,856,074
OAIXIEZ25HH 0185 &I
14,425,000& 14,425
OAIXIZE 25 LTHAIAE F= & S 2
2l 53,873,500& 53,874
OAKNE 23 &S 11,000,000& 11,000
E3H FZASIA H ASEEAN HHAMS 100,000 0 100,000
401 AIEHIZ R HYI 100,000 100,000
01 Al&HI 100,000 100,000
ONSBI BULERAL L ASEA 24
100,000,000 100,000
ZoHl S otd2e| & EFHIMY N8 3,300 3,300
202 04t 3,300 3,300
01 =LHOHI 3,300 3,300
O2stM & dae] & 2+FHIAE KT
HH(FUESH) 3,300,000 3,300
=t E 2t &MAIE FXl2tel 85,000 85,000 0
7l 70,000




a2 FSMsAEZ 2N Estsart
M MNSEs BEE 2 85
&t 2alza 2& - FZ4 EEED
AR 2A - B - C(BH) - HSAY - BYS Ofl ko4 Oﬁ]gﬁ HRE2
Al 15,000
308 AtXIEHMSOIE 85,000 85,000 0
2l 70,000
Al 15,000
01 XN B EES 85,000 85,000 0
O=ItNE 2 SMAIE sX2el
85,000,000& 85,000
2l 70,000
Al 15,000
=N E 23 SIAIAER 2= 1,036,000 195,500 840,500
) 812,000
Al 224,000
403 AXIEtMSAH=01d 1,036,000 195,500 840,500
Dl 812,000
Al 224,000
01 XIS 22 2 1,036,000 195,500 840,500
O=NE 2 SMHAIAY 2=
1,036,000, 000 1,086,000
2l 812,000
Al 224,000
A2 BIIZAL & S8H 2|2t = 80,000 0 80,000
207 AR 80,000 80,000
01 = 80,000 80,000
OAI2a EIIZAM € S84 2|2 =
g 80,000,000& 80,000
AAZSR A HSEH 281,000 281,000 0
HS23te4 st 281,000 281,000 0
d= Su2s 85 B 20,000 20,000 0
307 @I2to| ™ 20,000 20,000 0
02 QI EANEE X 20,000 20,000 0
Ogu J|2¢ T 20,000,000& 20,000
g HEsE 29 X 36,000 36,000 0
308 RIXIEME0IH 36,000 36,000
01 HXHHBLEES 36,000 36,000
Ogl HEsY 29 X
36,000,000& 36,000
OIF MSHAI=0| =X 35,000 35,000 0
307 @lztol ™ 35,000 35,000
02 QIHHAAEE X 35,000 35,000
OQIEESHAMNS0l X XA
35,000,000& 35,000
SEUH K2 30,000 30,000 0
308 XXIHMSOIA 30,000 30,000
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Al

2
=]

20238 =0ila LEtsIH 23HM=

=

e
=

D 2EEdE=
g AEXST|At] A8

el MEHE 243

S 0l & AHEY I

A H=sdEH

Al A

AR RA BB B(S) - MBAY - B Ofl by A HnE2
NEET 237,414,762 235,719,467 1,695,295
| 12,321,324
Al 205,093,438
ALESTAIE A 151,129,795 143,546, 174 7,583,621
p 2,321,324
Al 138,808,471
HeHT HAHE 39,891,036 28,341,331 11,549,705
p 315,000
Al 39,576,036
de|EHS SH N 11,424,651 10,808, 125 616,526
202 OfH| 1,620 1,620 0
01 =UhoiH| 1,620 1,620 0
OF20s L M3 +3
1,620,002 1,620
203 AR EAY| 16,560 16,560
03 AlHZERI REAIY| 16,560 16,560
OMEHRTE U HSUE =7
12,960,00024 12,960
OFSAE U WAL X
3,600,0002 3,600
307 Q120 11,406,471 10,789,945 616,526
R QIABAAARE 11,406,471 10,769,945 616,526
OHSFLAY X2 5,270,699
SHIHSUSIZINSH, A, 5H)
1,923,082,0002! 1,923,082
SHETEA 3,347,667,00024 3,347,667
ONSs 25FII% X
6,135,772,0002 6,135,772
M3 ARFH 29 4,149,166 3,696, 190 452,976
307 2I2L0|A 4,149,166 3,6%, 190 452,976
SR RS 4,149,166 3,6%, 190 452,976
OASEANSH 2% 4,149, 166,0002! 4,149,166
27 dplEMS X 2,200,000 2,200,000 0
308 XX SISO/ & 2,200,000 2,200,000
0l HXSHBARES 2,200,000 2,200,000
027 ABSEZI|= X
2,200,000,0002! 2,200,000
HMSSAALT 10,998,399 10,659,976 333,423
201 Yptegy| 1,000 1,000 0
01 AlR221H| 1,000 1,000 0
OHNSVESTR BHE M
1,000, 0002 1,000
307 2I2H0I A 9,507,644 9,289,781 217,863
SEREEE 9,507,644 9,289,781 217,863




A= EIMs2E=

M ATXSTALS A

A H=sdEH

tel: d2Hs 243 (St &)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
5T 2 S e g 2 1 o <= . Ofl Ao e
ONE RE2SEIIR FI8=Y
9,507,644,000 9,507,644
309 HES 1,484,755 1,369,19% 115,560
01 SAH- SHEYNES 1,484,755 1,369,195 115,560
OoAlgss HFes3dJIF N
575,540,000 575,540
Ostd3sd MNE2SZIIF A&
909,215,000 909,215
QlEi ) A #SA2 10,113,700 118,700 9,995,000
307 212t01 & 10,113,700 113,700 10,000,000
02 LB HAHE X 10,113,700 113,700 10,000,000
OLIM=LIOIEIERC 2SAd X AIEEE
10,000,000,000& 10,000,000
OQIEFCHEHE 252 N
36,000,000 36,000
Oeldgn T2 X
53,000,000 53,000
OLI™UEZ3t OF2E X
24,700,000& 24,700
=U L2EU= Nzl X 367,620 367,620
307 2I12t01 & 367,620 367,620
02 QI B A E A 367,620 367,620
0O3.12 |18 ==0tetEl=
15,000,000 15,000
OLIEZHAIEE H=A0I2U =]
77,500,000 77,500
O ZAAIFYI| OFTHEl X MEHMS OF
Tl 26,000,000 26,000
09.15 718 = & 1St HU=R0te=EN
k=l 4,320,000 4,320
OLIEZAAIE = & 1SsW AU
2 20,500,000 20,500
09.15018 d=gH==U2
70,000,000 70,000
Ol ZHAIEH H=LELAESRAUZ
12,400,000 12,400
OLlEZ Al RAH3E F2U2
14,300,000& 14,300
O ZAAIEE d=0L0tH= U=
24,600,000 24,600
OIEZAHAI S d=HAATXYS L M
BT HAALX(S 37,000,000 37,000
OMZAAI N AIITHE
11,000,000& 11,000
OLIMFAAIEE = SSF 8=0t0[A5t
JItHal 30,000,000 30,000
Ol HAIEH =01 A=50H3]
25,000,000 25,000




D 2EEdE= A H=sdEH
D AEXSERA AW

;F?_—i: dEHE 243 (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
= =S JhEl X 100,000 100,000
308 XXM SO0IA 100,000 100,000
01 XN ELS 100,000 100,000
ObIF8)| d=0SstdAAUSl
50,000,000 50,000
OA At 223 50,000,000 50,000
IEE AX= M |4 70,000 70,000 0
307 gIztol ™ 70,000 70,000
02 QIHHAANGE R 70,000 70,000
OQIFE A AT |4
70,000,000 70,000
IS A(WR) A=A X& 472,500 262,500 210,000
| 315,000
Al 157,500
403 MXISHHSX=01H 472,500 262,500 210,000
Il 315,000
Al 157,500
01 XM= 22X 472,500 262,500 210,000
OJtatsial A=Al 1|3
472,500,000 472,500
) 315,000
Al 157,500
MEHS 243 19,374,087 15,928,446 3,445,641
| 9,051,324
Al 10,322,763
HEHNSELS X2 311,800 260,800 51,000
201 LB2 ] 1,800 1,800 0
01 At22t2ltl 1,800 1,800 0
OdEH=srE 23X HHE M
1,800,000 1,800
307 QIztol ™ 310,000 239,000 71,000
02 QIIHAANSEE R 310,000 239,000 71,000
OQIMAI I YA 190,000,000& 190,000
OF=2E FULS(HELS 28
25,000,000& 25,000
O - FHFe HEMSNX HRuS
20,000,000 20,000
OHMEHsns 23 75,000,000 75,000
MET=E JHE 634,000 710,500 AT76,500
307 212t01 & 634,000 710,500 AT76,500
02 QA AANGEE X 634,000 710,500 AT76,500
OAIZD| MEHSHS HA
169,000,000 169,000




M 1 HSE

SaHs (Sl &8
A2 RN - B O(3]3) - HFAIY - BY Ofl by A HImE=sT
O31Z0| MEH S H
287,000,000& 287,000
OZ2E YEIS 2108 M)
100,000,000 100,000
ORAWE MEHS HHal(2I0F) M
15,000,000 15,000
OXIA2 MEHSUHS H
63,000,000& 63,000
T EREREEE 542,014 544,014 22,000
307 LI20| & 542,014 544,014 22,000
02 QIRHEAAIHE X 542,014 544,014 A2,000
OXIMBUSHEN &0}
397,514,000 397,514
ONIAD MEHSUS &
144,500,000 144,500
MEH S 27X |4 236,000 236,000 0
308 XXISHH SO/ 236,000 236,000
01 AX NS ELS 236,000 236,000
02 7 H83 29 X
140,000,002 140,000
O - 7 MEHSDY 29
80,000,000 80,000
O+ 7 LY HEDA 2Y
16,000,000 16,000
ALMEHSTCA HX(ZEXE) 1,780,806 1,704,645 76,161
Pl 1,012,704
Al 768,102
308 KEXIEHMSOIH 1,780,806 1,704,645 76,161
Il 1,012,704
Al 768,102
01 AIXHHBAELS 1,780,806 1,704,645 76,161
OYst MBHSTCT HIXI(HEX)
1,780,806,000& 1,780,806
J| 1,012,704
Al 768,102
NZAMEHSTCA X (BSXH) 1,139,557 1,090,383 49,174
Il 651,574
Al 487,983
308 KXIHMSOIH 1,139,557 1,045,443 %, 114
| 651,574
Al 487,983
01 AIXSHHBAELS 1,139,557 1,045,443 94,114
024 MEHSKTA X (BSKIR)
1, 139,557,000 1,139,857
| 651,574




A H=sdEH

SEAN= = (S H2)
AZ .24 - ZE - CR(3H) - MIRAY - BES ofl Ak Oﬁ]gﬁ HR=2
| Al 487,983
0124 MBS (3K 44,940 0 44,940
p 22,470
Al 22,470
307 BI2H0I A 44,940 0 44,940
9] 22,470
Al 22,470
02 QIAIBAAARE 44,940 0 44,940
001241 MBHIS X
44,940,00024 44,940
p 22,470
Al 22,470
ATZAF0IZAX 6,455,478 3,567,215 2,868,263
I 5,316,276
Al 1,139,202
308 XX SISOl & 6,455,478 3,587,215 2,868,263
pJ 5,316,276
Al 1,139,202
01 AXSHBA2ES 6,455,478 3,567,215 2,868,263
OAZXAR0IB2 KA
6,455,478,0002 6,455,478
b 5,316,276
Al 1,139,202
AR E T S X 2 50,000 0 50,000
307 2I2H0| A 50,000 50,000
PEEIEIEPONETES 50,000 50,000
OAZEXZT| XI&AR('238HAI)
50,000,000 50,000
ZojeIAZEAS 0182 N 571,710 221,087 350,628
b 470,820
Al 100,890
308 XXIHAISO0IE 571,710 221,087 350,623
p 470,820
Al 100,890
01 AXSHB A2 XS 571,710 221,087 350,623
OBONUIARZAZ0IZR XIS
571,710,0002! 571,710
I 470,820
Al 100,890
20U 100(01F&F, o1%7) 320,000 520,000 A200,000
| 320,000
308 XXIHHISOI& 320,000 518,450 198,450
| 320,000
01 MXISHB L2 XS 320,000 320,000 0




C Ee=ESE= A H=sdEH

(Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T < B Ofl &k o se
O=2IHM= 100 2L(0I1FEF, A7)
320,000,000 320,000
| 320,000
=0IXIZ 100(Al) 200,000 0 200,000
| 160,000
Al 40,000
308 AXIHMSOIH 199,050 0 199,050
| 159,240
Al 39,810
11 BI 2SO B A ELE AL 199,050 0 199,050
O=0H 100 2L (Al) 199,050,000& 199,050
| 159,240
Al 39,810
403 XIS MS 201 950 0 950
J| 760
Al 190
02 2J| 2SO0l CHBHRHE = 9 EF AL 950 0 950
O0IRI2! 100 S (A) &1 TaHS
950,000 950
| 760
Al 190
ZOHoId> 54 1,944,885 6,644,802 A4,699,917
202 04dl 1,620 1,620 0
01 =LHO4 L] 1,620 1,620 0
OFoHel Mz sXEsd XA
1,620,000& 1,620
307 QI2HO| A 1,943,265 6,643,182 24,699,917
02 QIRHEAAIHE B = 1,457,892 2,191,434 AT33,542
OIS HBLSAIR 2
392,919,000& 392,919
OZHUAE S+u2 S4
390,200,000 390,200
ONAXNEX 29 291,513,000& 291,513
OFOHe!l BN 4 383,260,000& 383,260
05 QIZtRIEIS 485,373 496,932 A11,559
OAHFN2SEI IR flsey
485,373,000& 485,373
ZOHQ! MEHF KA BHX 2,519,338 0 2,519,338
| 1,068,480
Al 1,450,858
307 2I2+0l™ 2,519,338 0 2,519,338
| 1,068,480
Al 1,450,858
03 QIRIEHXHE2HHIB X 2,519,338 0 2,519,338




M 1 HSE

;F?_—ii e%iﬂ% %{gik (SH9 H2)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OH I HEHF A=A BRI
2,519,338,000& 2,519,338
Jl 1,068,480
Al 1,450,858
oI HE MU 58,000 58,000 0
Il 29,000
Al 29,000
307 212+01& 58,000 58,000 0
Jl 29,000
Al 29,000
02 LB HAHE L 58,000 58,000 0
OIS == 58,000,000 58,000
Il 29,000
Al 29,000
el MM OHE ¥ EOt 807,330 117,000 690,330
307 gl2to| & 807,330 117,000 690,330
02 QIZHEAAEE X 807,330 117,000 690,330
OAIZHH 08 =02l izl
74,000,000 74,000
OHUMAME=MuFHS
45,000,000 45,000
OHMHAN2HFH=US &It
688,330,000& 688,330
ol =2Ss N 297,370 0 297,370
307 @120l & 297,370 297,370
02 QB AANEE R 297,370 297,370
Ot =2sXA
258,470,000 258,470
Ooi=gdEdsU=d &t
38,900,000& 38,900
=2 28 N2 1,460,859 1,460,859
307 el2to| & 1,460,859 1,460,859
03 2 HEE2SHIEX 1,460,859 1,460,859
OTOHMFS HBYSSIHI(ARH)
1,460,859,000& 1,460,859
=HAZ=X K& 238 740,000 663,960 76,040
Tour de DMZ 2023 = MIXHE ACHE! 200,000 200,000 0
201 =3 200,000 200,000 0
03 A2 I 200,000 200,000 0
OTour de DWZ 2023 = MIAHEH 42
200,000,000 200,000
2023 Hsg=2d 2|0t SMAZEHILIANS 70,000 50,000 20,000
307 el2to| & 70,000 50,000 20,000
02 2B YA R E A 70,000 50,000 20,000




=2 EsMs2E

)
=
M ATX=XALe] &S

A H=sdEH

=R SHAE= X2 Z3t (CHel: &2l
AR SN O(BH) - NRAY - BAS ofl b dE= HDS2
d=- A - 3% = 45 . 0l & =
02023 \HsE2d oIdBe|old 2MAZEY)
LIACHS] 70,000,000& 70,000
2023 OFAIOF &H| MI2A Al2l= 1XICHS) 100,000 100,000
307 S1ZH0| & 100,000 100,000
02 OIZIEAAIH B X 100,000 100,000
02023 OtAIOF &EHI MIEA Alel= Xt THal
100,000,000& 100,000
2023 Z2l0tE FLIO, AL AR AIZBIIAE 50,000 0 50,000
307 21Zto| ™ 50,000 50,000
02 QIZFEBAMAIHE X 50,000 50,000
02023 2el0tE F=LIN, AILIO AR AIZI
jSaf= 50,000,000& 50,000
2023 ITF &2 MAKEHILIAZEAHHE 80,000 100,000 A20,000
307 S1ZH0| & 80,000 100,000 20,000
02 QI AMAIGE X 80,000 100,000 A20,000
02023 ITF &2 MAHKEHILIAEH S
80,000,000& 80,000
Hi232] Cl&=HMIGHE0tEUE] 200,000 200,000 0
307 2I12+0| & 200,000 200,000
02 QIZFEAMAIHE X 200,000 200,000
OHNI233| AIE=2MIGHE0IEUS]
200,000,000& 200,000
2023 M= OLAIOF - ENEF DIAEHA O3l EIMKIA 40,000 40,000
307 21Z2H0| & 40,000 40,000
02 QI AMAIRE X 40,000 40,000
02023 M= OFAIOF - EHEQF DIAEHAS =
D ONE! 40,000,000& 40,000
=2H AEX NE g4 58,960 5,000 53,960
=2H AEX NE AIY X 13,960 0 13,960
307 2I12+0| & 13,960 13,960
02 QIZFEAMAIHE X 13,960 13,960
02023 8t & F=LI s20U3
13,960, 000& 13,960
HIE 2014 2 )24 45,000 45,000
201 LBr2Ab| 45,000 45,000
01 AFR22teltl 41,000 41,000
OHI&E 2014 =2 ) 41,000,000& 41,000
02 Bs24H| 4,000 0 4,000
OHIE 2014 220 252
4,000,000& 4,000
HESAIE oz 2= 31,026,000 41,776,000 A 10,750,000
J| 2,955,000
Al 28,071,000
OIMEAAl HC =4 M= 2,898,000 3,534,000 636,000




A= FIHs2HE= A 1 MSHED
M ATX=XALe] &S
Rl XsAlE 2lZet 2= (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
401 AIEHIZL 28I 2,898,000 3,534,000 A636,000
01 Al&Hl 2,834,000 3,534,000 A700,000
OQEEAAl M=t =4 ASIAL SAHH
2,834,000,000& 2,834,000
02 Zcldl 64,000 0 64,000
OQIEBAA M=tk =4 AFIAF 22l
64,000,000& 64,000
S5 ZI1E W 371,500 2,031,000 21,659,500
401 AIEHIZL 28I 371,500 2,031,000 21,659,500
01 Al&HI 366,000 2,000,000 21,634,000
OHsEIZINE W24 SAtI
366,000,000& 366,000
02 Zeldl 5,500 23,000 A17,500
Odsteh 1301 E 24 Zeldl
5,500,000& 5,500
HMEIEALE XA(012) 337,000 615,000 A278,000
| 337,000
403 XX SHHSA=01H 337,000 615,000 A278,000
| 337,000
01 XX SN AG=E X 337,000 615,000 A278,000
O2YIIMSAIZEEZ ML SA
59,000,000& 59,000
| 59,000
ONEH 2giMeEy =S Msa A
200,000,000& 200,000
| 200,000
OAWB HILIAY 22TA
78,000,000& 78,000
| 78,000
HSEUEAIE XA (MEE S0CAHY) 4,205,500 10,522,000 26,316,500
| 1,700,000
Al 2,505,500
403 XX SHHSKH=01A 4,205,500 10,522,000 26,316,500
| 1,700,000
Al 2,505,500
01 XX 2L 4,205,500 10,522,000 6,316,500
OZE=MEA =2HSHH AKX
4,205,500,000& 4,205,500
| 1,700,000
Al 2,505,500
SEINGEEHAZEERE O QIR&C WM SAH 2,055,000 0 2,055,000
| 616,000
Al 1,439,000
401 AIEHIZL 28I 2,055,000 0 2,055,000
| 616,000




A= EIMs2E=

g AEXST|At] A8

A H=sdEH

Rl MISAIE olmet 25 EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Al 1,439,000
01 Al&HI 2,023,000 2,023,000
OSEZINGSSAEZXEL2 OFPE AXHCO w
Ml SAH] 2,023,000,000& 2,023,000
2l 616,000
Al 1,407,000
02 Zell 25,000 25,000
O&EINGSSARXELZ O XS0 W
H SAE el 25,000,000 25,000
03 AIZ = 0HYI 7,000 7,000
OSZINGSSAEZXEN2 OF7PE AXXC w
M SAH AIZ 2O 7,000,000& 7,000
STINGEEAERENR d2T W 578,000 578,000
2l 173,000
Al 405,000
401 AIEHIZL 20| 578,000 578,000
) 173,000
Al 405,000
01 AlIZHI 565,000 565,000
OBZINGESSAZXELR MZE WH SAI
565,000,000& 565,000
Jl 173,000
Al 392,000
02 Zell 9,000 9,000
OSZINGEZFAEXEL2 HZE WM SAH
2ol 9,000,000& 9,000
03 AIZ=CHYI 4,000 4,000
OSZINGESSAZXELR M2 WH SAt
A E20H] 4,000,000 4,000
SEMS2 AFHE AEIHLSA 228,000 228,000
2l 114,000
Al 114,000
401 AlEHIZL 2] 228,000 228,000
2l 114,000
Al 114,000
01 Al&ZHI 226,000 226,000
OZEHS2 AFA AIE I S A
226,000,000& 226,000
2l 114,000
Al 112,000
03 AIZ = CHHI 2,000 2,000
OSEH=2 ARAE Al HE SAH Al
SO 2,000,0002 2,000
SUECHSS ST 2AA Ul SA 51,000 51,000
2l 15,000




D 2EEdE=

D AEXSAAE AE

A H=sdEH

D HISEAIE Tt 5 CHe &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

Al 36,000
401 AIEHIZ 28I 51,000 0 51,000
| 15,000
Al 36,000
01 AlEHI 51,000 0 51,000
OtMEEN=s2 =7% ZHl SA
A&t 51,000,000& 51,000
| 15,000
Al 36,000
HLZI|E MIA=2E S Al S A 2,332,000 2,332,000
401 AIEHIZL 2018 2,332,000 2,332,000
01 Al&Hl 2,281,000 2,281,000
OALZINE IIA=2ZE 5 4 A
=] 159,000,000 159,000
OALZINE II3="E S S SA
SAtI 2,122,000,000& 2,122,000
02 2eldl 37,000 0 37,000
OAHZLZIE IIA=2ZH S S& SA
Zeldl 37,000,000& 37,000
03 Al S CHHI 14,000 0 14,000
OALZINE III=2EH 5 4 A
A& S2HY| 14,000,000& 14,000
QIFEOIAIOIE=ZD|E TIAEX At 1,714,000 0 1,714,000
401 AlEHIZ 20| 1,714,000 1,714,000
01 Al&HI 1,681,000 1,681,000
OPQIFOIAIOIE=Z DI E & THAM
& &l 283,000,000& 283,000
OPQIEOIAIOIE=ZDIE & ZHAM
& S AHI 1,398,000,000& 1,398,000
02 Zeldl 25,000 0 25,000
OLIEOIAIOtEFZ D& & THAM
o 2teldl 25,000,000& 25,000
03 AIE 2 CHHI 8,000 0 8,000
OPQIEOIAIOIE=Z DI E & THAM
2 AIE 201 8,000,000& 8,000
SHal KX CHEl 2EEI1E AL K2+ 5,125,000 5,125,000
401 AIEHIZ 2018 5,125,000 5,125,000
01 AlEHI 5,125,000 5,125,000
O=HUz=zl Sxl CHHl =t CE=AE
IHE 4= Ak 5,125,000,000& 5,125,000
FEEINE 2 AIE EUIAY 2,653,000 130,000 2,523,000
401 Al&HIZ 20| 2,653,000 130,000 2,523,000
01 Al&HI 2,614,000 130,000 2,484,000
OFZINE =AE FHIAS SAtI
2,614,000,000& 2,614,000




A= EIMs2E=

g AEXST|At] A8

A H=sdEH

ol MSAE Xl 2= EER=E)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
sT o T e e "' = - Oll AboH ==
02 22l 29,000 0 29,000
Otz LAl HulAtY Zeld]
29,000,000 29,000
03 Al&S0HH] 10,000 0 10,000
OSstI|Z LEAIE HUlAIY AlZRUH
10,000,000 10,000
S5HHI|E HUKHMEA Z W24 460,000 460,000
401 A& HIL 20| 460,000 460,000
01 Al&H| 449,000 449,000
O28A)|& HUNNMEA LT A A
24,000,000 24,000
O28A)|& HUKNNMEA LT A SAH
425,000,000 425,000
oe 22l 7,000 0 7,000
O28A)|& HUMMEA BLHTAF 22/
7,000,000 7,000
03 A& CHHI 4,000 0 4,000
OSstI|Z HUNMEY BLDA AIER
o 4,000,0002! 4,000
CSHSHE AS 1,941,000 1,941,000
401 AlSHIL 20| 1,941,000 1,941,000
01 Al&H| 1,406,000 1,406,000
OUSHEUR A= &Y
706,000,000 706,000
OUSHEHE A= HHZAHI S
700,000,0002! 700,000
02 22l 300,000 0 300,000
OU=sE=dE s Zeldl
300,000,0002! 300,000
03 Al&SCHH] 235,000 0 235,000
OUSHEUE MS ALY
235,000,0002! 235,000
OIMSLIOIEISFC OIRCINE X4 3,824,000 161,000 3,663,000
401 AlSHIL 20| 3,824,000 161,000 3,663,000
01 Al&H| 3,765,000 161,000 3,604,000
OQIESLIOIEISFC MARCIPE &4 ZA
] 3,765,000,000% 3,765,000
02 22l 42,000 0 42,000
OQIMSLIOIEISFC MARCIPE =4 22l
H 42,000,000 42,000
03 Al&=CHH] 17,000 0 17,000
OQESLIOIEISFC MAXCIPE B4 AlA
S 17,000,000& 17,000
HSHHIZIIE S5 24 ZA 752,000 752,000
401 AlSHIL 20| 752,000 752,000




A= EIMs2E=

g AEXST|At] A8

A H=sdEH

ol MSAE Xl 2= EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH S Hnz=2
5T 2 S e g 2 1 o <= . Ofl Ao e
01 AlZHI 736,000 736,000
OESaHIBIE T 2= SAH 24|
36,000,000& 36,000
OES8HIZIIE T 25 SAHI
700,000,000 700,000
02 Zell 11,000 11,000
OES=EHIBIE 5+ B SA 2l
11,000,000& 11,000
03 Al 2 0HHI 5,000 5,000
OESHHIBIE T 2 SAH AIERH
af 5,000,000& 5,000
ST TSAIE 24 S 670,000 670,000
401 AIEHIL 20| 670,000 670,000
01 AlEZHI 655,000 655,000
OF"=3% 2AE HE+S A £
32,000,000 32,000
O+ 2AE HEFS AL SAHI
623,000,000 623,000
02 Zell 10,000 10,000
OFJ=8d 2 AL HEFSA Sl
10,000,000& 10,000
03 AIZ=CHYI 5,000 5,000
O+ =2AE HESSA AER
all 5,000,000& 5,000
SOHECHS 2 AR 2 EoA D2 SA 331,000 331,000
401 AIEHIZL 20| 331,000 331,000
01 Al2Hl 322,000 322,000
O&MEEHS2 MY & 24 =2+
SAH 2 18,000,000& 18,000
OfAHECEH=2 AFRA & S 2=
SAHI 304,000,000 304,000
02 Zell 6,000 6,000
OS2 AFA & 224 =2
SA 2l 6,000,000& 6,000
03 AIZ=0HHI 3,000 3,000
OS2 AFA & 22 =2
SAH AIE 20| 3,000,000& 3,000
ZOHI M AL W2+ 500,000 500,000
401 AlEHIZL 2] 500,000 500,000
01 AlZHI 475,000 475,000
OZUMAMSAIE W2+ AlZH
475,000,000 475,000
02 Zeltl 15,000 15,000
OZMAM=AIE 2= Zelbl
15,000,000& 15,000
03 Al R0HHI 10,000 10,000




A= EIMs2E=

g AEXST|At] A8

A H=sdEH

Rl XsAlE 2lZet 2= (St &)
AT S4B BR(E) - HRAY - BES 0] a0t A HimEE]
OZMMSAIE HES AL
10,000,000& 10,000
HEALE2S 59,909,712 56,701,437 3,208,275
HEAIE ?I& 22 59,909,712 56,701,437 3,208,275
307 2Iztol& 33,823,307 30,933,536 2,889,771
05 It 3 33,823,307 30,933,536 2,889,771
O=sg1d 2 1,873,569,000& 1,873,569
OQAFAMEZINE ?E
3,369,652,000& 3,369,652
OsJ|&l+E 2 283,782,0002 283,782
OQIMKLIOIEIEFC SRUIE <IE
715,020,0002 715,020
OQIMFLIOIEISFC S24IE HAXMC2E
A& 50,000,000 50,000
OZ0=H=HE 2
2,398,869,000& 2,398,869
OZHHMF2 A 310,421,0002 310,421
O=steitie =gy 2
4,120,388,0002 4,120,388
OZREHUA/AHANZINE 2IE
4,322,533,0002 4,322,533
OFdMs2/+3F 2
3,338,041,000& 3,338,041
O=sgLl|g=xtlda2 A
3,788,873,000& 3,788,873
O SHSZ/0tAIOIEZHIZIE |
2,057,011,000& 2,057,011
OS=MARE 2= 1,289,840,0002 1,289,840
OodstdIIE | 1,536,050,000& 1,536,050
OS% ING SEAEZXER/0FE A
1,279,923,0002 1,279,923
o218 U MSAE 2
937,982,0002 937,982
OxrZMsAE A& 1,222,165,0002 1,222,165
odedild 2dadl 929, 188,000& 929,188
308 ARISHMSOIE 25,579,784 24,769,499 810,285
N SI 2SS SN A A 25,579,784 24,769,490 810,285
OQIFMOIAIOI=FZEDIE/AB| T2 12BN E
P 5,834,968,000& 5,834,968
OSEMSE A 4,266,112,0002 4,266,112
O3S NOISH=2/0tAIOtEBKE I E A
1,466,703,0002 1,466,703
OASHSZ/0tAIOIEXZE S
3,058,579,000& 3,058,579
OHE=UMSHE 2
4,218,759,000& 4,218,759




]

A= EIMs2E=

A H=sdEH

g AEXST|At] A8

ciol HEAASY (cie) 29
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
8% FM- 358 N &5 = of o s
Ol EH S /A
6,734,663,000& 6,734,663
403 REXISHHIS K201 & 506,621 398,402 108,219
2 SIS iSRS 2 EAFHI 506,621 398,402 108,219
OPCIEOIAIOIE =D& /A5 A2 E I &
PIE 200,000,000& 200,000
Oosdxsa A 15,973,000 15,973
O3S NIEHF2/0tAIOLEBIXE D1 & IE
32,375,000& 32,375
OHSRISR/OAIOIE L2 St
64,485,000 64,485
OAAM=DIXSHE IE 38,788,000& 38,788
OIHANICHSD St
155,000,000 155,000
AZIAMS M 130,000 130,000 0
ATRAMA K& 130,000 130,000 0
307 212+01™ 130,000 130,000 0
02 QIZHEAAHE R 130,000 130,000 0
OAEZ=AY & KA
130,000,000& 130,000
HE2FZH| 51,475 50,113 1,362
Jl2dul(MsXE) 51,475 50,113 1,362
A28 51,475 50,113 1,362
201 Let2AH| 28,607 27,245 1,362
01 AtR22teld| 28,607 27,245 1,362
2FA2Y =2 18,207,000& 18,207
OJ|=2g23 =8| 10,400,000& 10,400
202 04t 18,068 18,068
01 =2Wodd 18,068 18,068
OJ|2gR=8 bl 18,068,000 18,068
203 PR F=&IY| 4,800 4,800
M PAN2IHRFA| 4,800 4,800
OFAN2ILRFEI 4,800,000 4,800
HRES(AG) 86,233,492 92,123,180 Ab,839,688
LHENHHKIZ 5,061,857 5,165,962 A104,105
fl=a=23ci3atat 5,061,857 5,165,962 A104,105
705 Gl=2 322 AE 5,061,857 5,165,962 104,105
03 Al - SXIGHED | S0 =2 R34S 4,164,200 4,164,200 0
OPQIEAG B FlE=X S2ALS
1,664,200,000& 1,664,200
OZII&EAHE XL xhet
2,500,000,000& 2,500,000
04 Al - SXISINE D20 == 0| AHAHE 897,657 1,001,762 104,105




= 2sHSBER FA MSdED

M WRS(AG)

&2l WRHHXS (CH9: &S1)
AT A - BI(EH) - HSAY - BES ol &4 e HRE
OQIFAG GBRIER SFALY
368,743,370 358,744
OZJ1&A4 XL xtHe
538,912,650& 538,913
SPSPNES 81,171,635 86,957,218 15,785,583
X2 OIXE Azt 3,271,635 14,057,218 10,785,583
311 Xt S0l Krake 3,271,635 14,057,218 10,785,583
02 S3I=8I|12 XL S0l RH&HE 3,271,635 14,057,218 210,785,583
OZII&AL KL A20IX
3,271,635,000& 3,271,635
Yz A2 4 77,900,000 72,900,000 5,000,000
601 Xt SR S4HE 77,900,000 72,900,000 5,000,000
02 Sst=s8JI2NLSASE 77,900,000 72,900,000 5,000,000
X

77,900,000,000& 77,900,000
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